Efficiency vs Dxy(PV)

S -
g
>
X
o
2 0.8
>
[2)
c
2
S 0.6
=
@
0.4
0.2]
e
L2
=
©
o
TP dxy(PV) (cm)
—=— DQM_TT_original
—e— DQM_TT_newbranch
—— DQM_TT_original_pLess
[ Efficienc] —— DQM_TT newbranch_pLess

efficiency vs dxy(PV)

Ratio

o
o ®
=

=)

3 .

.2 0.
TPd

3

(

Y m

Efficiency vs Dz(PV)

efficiency vs dz(PV)

1' L .

N SR S S S
0.8 --e e e fe i f
osf- SNSRI -
0.4F- e o Sah FER
0.2f--- e e RaB Feeens
L-w- i i i i

| SRR T DY | SEEEERLE PR
°¥p 20 10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

efficiency vs dz(PV)

Ratio

1. . .
1 R ERREEE
e
.0 bt i
v bR HAREELE -1 i
1 ey

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


